PART-I

ENGLISH (100 MARKS)




Question No.1:

Question No.2:

Question No.3:

Question No. 4:

Write down the SYNONYMS of the following words. (20)

a. Sprint b. Spooky

C. Pollution d. Temporary

e. Rug f. Pull

g. Large h. Gift

I. Tiny J- Yell

Identify Parts of Speech from the given Sentences. (10)
a. Amjad always go to the park on weekends.

b. Ahmad finished the mile race very quickly.

What language do people speak in Japan ?.

o o

Swimming is the best exercise.

e. My cat prefers dry food.
f. 1 usually do not like to go shopping.

g. Will you book us a guest room?

h. When it rains, | like to go to the movies.

i. Ilearned a lot about grammar in third grade.

j. 1 cannot write with led pencil.

Fill in the blanks with PREPOSITIONS from the box. (10)
Of Inside With On Of
About | Towards | At Inside For

a. He prefers to work a farm.

b. They will return sunset.

c. There’s nothing my bag.

d. His father died cancer.

e. Why don’t you come ?

f. 1 write a pen.

g. He is walking the station.

h. Worrying your health can make you ill.

i. Do not blame me what happened. It wasn’t my fault.

J.  The book speaks the writer’s childhood.

Read the paragraph carefully and answer the questions at the end. (10)
We as Muslims should follow the noble example of the tolerance of our

Rasool (SAW). The deterioration and conflict prevailing in the society is




Question No.5:

Question No.6:

Question No.7:

due to lack of tolerance. This menace can only be cured by following the

noble examples set by our beloved Rasool Hazrat Muhammad (SAW).

a. Give a suitable title to the paragraph.
b. Write the theme of the Paragraph.
c. As a Muslim what should we follow?
d. Write the meanings of menace and deterioration?
e. What is the cure for the conflicts in our society?
Do as directed. (20)
a. Boys are sitting in the class. (Change into past continuous)
b. Ali did not have books. (Change into positive sentence)
c. She has been a letter. (Use the correct form of verb)
d. He has been studying morning. (Use ‘since’ or ‘for’)
e. He washed the car. (Rewrite in simple future negative)
f. He draws a map. (Change into negative)
g. Heisriding a horse. (Change into future continuous)
h. Heis university student. (Use the correct article)
i. He will be reading a book. (Change into interrogative sentence)
j. He offers his prayers. (Rewrite in simple past negative)
Change the following sentences into passive voice. (20)
a. He has played football.
b. She washes the cloths.
c. They were reading the novel.
d. He had written a letter.
e. | am papering the box.
A. Form adjectives from the given words. (1x5)
Beauty
Luck
Comfort
Gold
Fame




Question No.8:

B.

Translate the given sentences into English.

Correct the spelling of the following words.

Difinetely

Hierrchi

Inconveniense

Compitent

Priveledge

(1x3)

(10)
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Question No0.9:

Translate the given sentences into Urdu.

PoooTw

He has been studying since morning.
He has completed the task.

They clean their house every day.
Have you got the book?

He was writing clearly.

(10)

Question No0.10: Write a composition of about 150-200 words on any of the following topics.

a. Health

b. Education

c. Noise Pollution

(10)




PART-II

MATHEMATICS & GENERAL
SCIENCE (100 MARKS)




MATHEMATICS (50)

Questionll. Encircle the correct option (1X10=10)
i. If A={1,2}and B = {a,b},then ANB = :
A {12} B. {a, b} C.{1,2,a,b} D.{}
. A'UA= ;
A. U B. 0o C.A D.A
iii. The additive inverse ofg is:
2 3 1 3
A —3 B.> C.3 D. -3
V.2 4=
3 2
z B.: c.2 D.2
5 6 5 6
2 4,
Vs T (PR —
A. = B. = c.2 D.>
5 6 5 6
vi. If we round off the decimal 3.7461 up to two decimal places, we get:
A. 3.74 B. 3.7 C.3.84 D. 3.75
vii.  When we change 0.25 to the rational number, we get;
A 2 B.2 C.: D. =
2 3 4 7
vii. (3% +29) +7° =?
A L B.- c.2 D. 2
5 2 7
iX.a™ <+ a =?
A. gmtn B. a™ C.am™m D. a%

X. Which of the following is not a perfect square?

A. V16 +9 B.v25+9 C.v16+9 D.v25-9

Question 12. Solve the following questions. (2X10=20)
a. Write the following set in tabular form
E={€ZA-7<x<-1}
b. Simplify:
1 1 15
879 18

627 ,
c. Express —— as adecimal.
625

d. Simplify : 27 + 22

e. Find square root of 256 by factorization method.

f.  Find square root of 729 by division method.

g. Findthe value of mif 13:3 = m:6.

h. Find the area of circle whose circumference is 32.43cm.

Add x2 + 2xy + y? and x* — 2xy + y?.
Find the solution of 5x —3 = 3x —5

—_—




Question 13. Solve the following questions. (5x4=20)

a. IfX ={1,3,7},Y = {2,3,5} and Z = {1,4,8} then find X U (Y N Z} (5)
TP N G A WP T

b. Simplify: - X ( 3) = ( 63) (5)

C. Find the number divided by 5 gives 9 less than twice the number. (5)

d. Which smallest number can be subtracted from 15198 to get a perfect

square. (5)




GENERAL SCIENCE (50)
Question 14.  Fill the relevant bubble for each part. Each part carries one mark. (15)

i The Liver stores its bile in the )
A. Gallbladder O B. Bile Duct

O

C. Large Intestine O D. Stomach 0]
il. At the end of each bronchiole, a tiny air sac called

A. Alveoli O B. Trachea O

C. Diaphragm O D. Alveolus O
iii. The reverse process of peristalsis:

A. Breathing O B. Vomiting O

C. Burning O D. Blood Circulation O
Iv. The loss of water by evaporation from plants is called .

A. Perspiration O B. Boiling 0]

C. Transpiration O D. Wilting O
V. The produces bile to break down harmful substamces.

A. Liver O B. Large intestine O

C. Pancreas O D. Gallbladder O
Vi. The number of vibrations produced by vibrating body is called .

A. Frequency O B. Wave Number O

C. Amplitude 0] D. Audible Frequency O
vii.  The speed of liquid in water as mediumis ___ m/sec.

A. 1500 O B. 1200 O

C. 1250 O D. 1220 O
viii. ~ The colors that can be used to make other colors are called :

A. Primary O B. Real O

C. Secondary o] D. Tertiary 0]
iX. The Ratio of speed of light in vacuum to its speed in medium is called ___.

A. Diffraction O B. Reflection O

C. Refractive index O D. Critical angle O
X. When we sit in sun we are heated by

A. Conduction O B. Convection O

C. Radiation o] D. Infrared rays 0]
Xi. The number of electrons in K-shell can be:

A. 2 O B. 8 O

C. 18 o] D. 32 O
Xil. Boiling of water is an example of?

A. physical change O B. chemical change O

C. colour change o] D. pressure change O
xiii. ~ Which colour is very good Reflector of heat?

A. red O B. black O

C. blue O D. white O
Xiv. Is use for purification of water.

A. Potash Alum O B. Peat O

C. Sulphur @) D. Carbon @]
Xv.  Margarine is result of Change.

A. Chemical (@] B Physical @)

C. Heat O D Radiology O




Question.15 Attempt all TEN parts. All Parts carry equal marks. (2 x 10 =20)

I. What do you mean by oxygenated blood?
il. Name biotic factors of an ecosystem.

iii. What is estimated size of heart?

Iv. Why metals are good conductors of heat?

V. Define Amplitude and Frequency.

Vi. What is Total Internal Reflection?

Vil. Brief Law of constant Composition.

viii.  Write any Three uses of Fertilizers.

iX. Define atomic number and mass number?
X. How plastic can be recycled?

Question.16 Attempt following THREE questions. All Questions Carry equal marks.(5 x 3 =

a. Explain Blood vessel in detalil.
b. How water can be purified? What is function of Potash alum?
C. Explain Conduction current and linked any example from daily life.

15)
(5)
(5)
(5)
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Q NO 29: Write the Urdu translation of (B) gL F I MK L 30 sun 28 2 iy
following verses and words.
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